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A cinema has 300 scats which are either standard or deluxe.

Let x be the number of standard seats and y be the number of deluxe
seats.

Write dawn an algebraic expression to illustrate this information

A standard sent costs £4 and a deluxe seat costs £6.
When all the seats arc sold the ticket sales are £1380.
Wirite down an algehraic expression to illustrate this information.

How many standard seats and how many deluxe seats are in the
cinema?
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7. (@) A block of copper 18 centimetres long

is prism shaped as shown. I
[Ber_nen

‘The area of its cross section is 28 square centimetres.
Find the volume of the block.

(b) The block is melted down to make a
cylindrical cable of diameter 14 millimetres.

14mmI

Calculate the length of the cable.
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